TIN-EXL-NRT 4E4kbBIHFELE (KFED

IS4 (M) 51l AT (M)
EDPNO Flt ZA | K EDPNO FA% ZA | K
105283 |M1 X 0.25 P RH3 156320 |M2.6 X 0.45 P RH3
104283 [M1 X 0.25 B RH3 156323 [M2.6 X 0.45 B RH3
105284 |M1 X 0.25 P RH4 156321 [M2.6 X 0.45 P RH4
104284 [M1 X 0.25 B RH4 156324 |M2.6 X 0.45 B RH4
105285 [M1X0.25 P RH5 128760 [M2.6 X 0.45 P RHS5
104285 [M1X0.25 B RH5 128761 [M2.6 X 0.45 B RHS5
105353 |M1.2X0.25 P RH3 128763 |M2.6 X 0.45 B | RH5.5
104353 [M1.2X0.25 B RH3 128861 |M2.6 X 0.45 P RH6
105354 |M1.2X0.25 P RH4 128862 |M2.6 X 0.45 B RH6
104354 |M1.2X0.25 B RH4 128764 |M2.6 X 0.45 B | RH6.5
105355 |M1.2 X 0.25 P RHS 128847 |[M2.6 X 0.45 B RH7
104355 |M1.2X 0.25 B RH5 156331 [M3 X 0.5 P RH3
105423 |M1.4X 0.3 P RH3 156327 |M3X 0.5 B RH3
104423 |M1.4X 0.3 B RH3 156332 |[M3 X 0.5 P RH4
105424 |M1.4X 0.3 P RH4 156328 [M3 X 0.5 B RH4
104424 |M1.4X 0.3 B RH4 128865 |M3 X 0.5 P RHS
105425 |M1.4X 0.3 P RH5 156329 [M3 X 0.5 B RH5
104425 |M1.4X 0.3 B RHS 128863 |[M3 X 0.5 P RH6
105493 |M1.6 X 0.35 P RH3 128864 [M3 X 0.5 B RH6
104493 |M1.6 X 0.35 B RH3 128765 [M3 X 0.5 B | RH6.5
105494 |M1.6 X 0.35 P RH4 128849 [M3 X 0.5 P RH7
104494 [M1.6 X 0.35 B RH4 128850 [M3 X 0.5 B RH7
105495 [M1.6 X 0.35 P RHS5 128848 [M3 X 0.5 IB | RH7
104495 |M1.6 X 0.35 B RH5 128866 (M3 X 0.5 B RHS
156302 |M1.7 X 0.35 P RH3 156334 |M3.5X 0.6 P RH3
156304 [M1.7 X 0.35 B RH3 156336 [M3.5 X 0.6 B RH3
128851 [M1.7 X 0.35 P RH4 128867 |M3.5 X 0.6 P RH6
128852 |M1.7 X 0.35 B RH4 128868 |M3.5 X 0.6 B RH6
1902001 |M1.7 X 0.35 P RH5 128871 [M3.5X 0.6 B RH7
156306 (M2 X 0.4 P RH3 156338 (M4 X 0.7 P RH4
156309 [M2X 0.4 B RH3 156341 [M4X 0.7 B RH4
156307 [M2X 0.4 P RH4 156353 (M4 X 0.7 P RH5
156310 |[M2X 0.4 B RH4 156354 |[M4X 0.7 B RHS5
128853 (M2 X 0.4 P RHS5 156339 (M4 X 0.7 P RH6
128854 (M2 X 0.4 B RHS5 156342 (M4 X 0.7 B RH6
128740 |M2X 0.4 B | RH5.5 128869 (M4 X 0.7 P RH7
128855 |M2X 0.4 P RH6 128870 |M4X 0.7 B RH7
128856 (M2 X 0.4 B RH6 128873 (M4 X 0.7 B RHS
128745 [M2X 0.4 B | RH6.5 156344 [MS X 0.8 P RH4
128845 |M2X 0.4 B RH7 156347 |M5X 0.8 B RH4
128750 |M2.3 X 0.4 P RH4 156345 |M5 X 0.8 P RH6
128751 [M23X 0.4 B RH4 156348 (M5 X 0.8 B RH6
128857 |M2.3 X 0.4 P RH5 128766 |M5X 0.8 P RH7
128858 [M2.3 X 0.4 B RHS5 128767 M5 X 0.8 B RH7
156314 |M2.5 X 0.45 P RH3 128875 |M5X 0.8 P RHS
156317 [M2.5 X 0.45 B RH3 128876 |MS5 X 0.8 B RHS
156315 |[M2.5 X 0.45 P RH4 156350 [M6 X 1.0 P RH4
156318 [M2.5 X 0.45 B RH4 156352 [M6 X 1.0 B RH4
128756 [M2.5 X 0.45 P RH5 128770 |M6 X 1.0 P RH6
156326 [M2.5 X 0.45 B RHS5 128771 (M6 X 1.0 B RH6
128757 [M2.5 X 0.45 B | RH5.5 128772 [M6 X 1.0 P RH7
128859 |M2.5 X 0.45 P RH6 128773 |[M6X 1.0 B RH7
128860 [M2.5 X 0.45 B RH6 1128773 |[M6 X 1.0 1B | RH7
128759 [M2.5 X 0.45 B RH6.5 128879 (M6 X 1.0 P RHS
128846 |[M2.5 X 0.45 B RH7 128880 (M6 X 1.0 B RHS

¥E: P JQUR frfst4il; B PE 21l




£l A (U)

EDPNO itk A | KE
106033 |NO.1 - 64 UNC B RH3
107033 |NO.1 - 64 UNC P RH3
106034 |NO.1 - 64 UNC B RH4
107034 [NO.1 - 64 UNC P RH4
106035 |NO.1 - 64 UNC B RHS
107035 |NO.1 - 64 UNC P RHS5
106043  |NO.1 - 72UNF B RH3
107043 |NO.1 - 72UNF P RH3
106044 |NO.1 - 72UNF B RH4
107044 |NO.1 - 72UNF P RH4
106045 |NO.1 - 72UNF B RHS
107045 |NO.1 - 72UNF p RHS5
156502 |NO.2 - 56 UNC P RH3
156504 |NO.2 - 56 UNC B RH3
129309 |NO.2 - 56 UNC p RH4
129310 |NO.2 - 56 UNC B RI14
129311 |NO.2 - 56 UNC P RH5
129312 |NO.2 - 56 UNC B RHS5
156506 |NO.4 - 40 UNC P RH3
156508 |NO.4 - 40 UNC B RH3
129317 |NO.4 - 40 UNC P RHS5
129318 |NO.4 - 40 UNC B RHS5
129319 |NO.4 - 40 UNC 1B RHS5
129315 |NO.4 - 40 UNC P RHG6
129316 |NO.4 - 40 UNC B RH6
129322 |NO.4 - 40 UNC B RH7
156511 |NO.6 - 32 UNC P RH3
156514 |NO.6 - 32 UNC B RH3
129324 |NO.6 - 32 UNC P RHS5
156515 |NO.6 - 32 UNC B RIS
129325 |NO.6 - 32 UNC P RH6
129326 |NO.6 - 32 UNC B RH6
129327 |NO.6 - 32 UNC P RH7
129328 |NO.6 - 32 UNC B RH7
129329 |NO.6 - 32 UNC 1B RH7
129330 |NO.6 - 32 UNC B RHS
156517 |NO.8 - 32 UNC P RH4
156519 |NO.8 - 32 UNC B R4
156520 |NO.8 - 32 UNC P RHS
156518 |NO.8 - 32 UNC B RIS
129333 |NO.] - 32 UNC P RI16
129334 |NO.8 - 32 UNC B RH6
129336 |NO.8 - 32 UNC p RH7
129335 |NO.§ - 32 UNC B RH7
156521 |NO.10-24UNC| P RH4
156523 |NO.10-24UNC| B R4
156536 |NO.10-24UNC | P RH6
156537 |NO.10-24UNC| B RH6
129341 |NO.10-24UNC | P RH7
129342 |NO.10-24UNC| B RH7
156525 |NO.10-32UNF | P RH4
156527 |NO.10-32UNF | B RH4
129343 |NO.10 - 32 UNF p RH7
129344 |NO.10-32UNF | B RH7
156529 [1/4 - 20 UNC P RH6
156531 [1/4 - 20 UNC B RH6
129355 |1/4 - 20 UNC P RH7
129356 |1/4 - 20 UNC B RH7
156533 |1/4 - 28 UNF p RHS5
156535 |1/4 - 28 UNF B RHS5
129357 |1/4 - 28 UNF P RH7
129358 |1/4 - 28 UNF B RH7




